JA Q) BEPEITESSSHIC. TN TORBBBREC—FEL, REMBEE I TTRREANTEVELIS. BEECOREORBEETHM b
<FEL

A\ ER: BETREVEVRROERIE FREEREICEBEES | SR BNABYET,
+ XUV MEHEITOEIRERIAE OIETIC S TR TLEE W RBIRRUAFIC R B PEA G R HEEE I ESRTTRNLBYET,
c RERBEHLCEYEESE EAEEN, ARRFFPIDMREE I DADRBEETOTEL,
« AERIE ARRRY FE RN — M E LV ABICRBIBLIICRA TN TVET,
c EREHRBELCINTOMRBO/N—F I 7 OREBEIYR—X Y MERBICEZADIIICLTIEEL,
REENERVI R IZEERAL XV ZRLTHD T ELLEIITLTIREL,
« AEBITENIFAA OB R T HEREDH M AREANTENTOVE I/ NELBFROFOBHEVIERRICRELTILEL,
« AHBIIRAEAOHZBNELTOE T AMREREN THRATHE HROFEGPEREEEETNLHIET.
EE: REICKIS>TUEBRBROF IV IURA MWL TOBRABFTICHEHTREBEEL,
BRARYSE VMBS PRIBRDBEIL SIRDICH Y, BEFVOREDRIBEE T ERSIEE LY
RFEE: 757y MNIRDITEB T BTesd BRI (D7a<Eb 3 nABIO)FTvILTLEEW,

To properly balance the arm with monitors mounted, adjust the spring tension using the
supplied Alfen Key as follows:

First, position and firmly hold the arm horizontally - W@

as shown. Ask for assistance should you require it. |
If the arm drops, turn the adjustment

screw counter-clockwise until it stays
in @ horizontal position.
e
L%
If the arm rises, turn the adjustment
screw clockwise until it stays in a
CAUTION: To avoid damage to monitors or | horizontal position.

mount, always keep the arm in a horizontal CAUTION:
position while making adjustments. A DO NOT over tighten the screws
Again, ask for assistance if required. }

BETFLE&EZZ—VESA KR —LA
’I%EU_7Q:E:Q—T—A TV SETTER
H/EI =17

adfEEL

REMICHT E=F—LEEDEE%ZT

AORI—IPORFOESFR - REQEIERBLEEIBVVLLETEY

L/

{ HR U 5 (T BIR R4 T2 —EEMIER TR WHEZS—A 2 F
EZH—HEICERIAD EZH—HEICHBEHI B IRORER B 13-32

FUTRBBENTUT, 75X75mm,  100X100mm b4

EZS—HEHT S FTHBE | VESA 14K =

RAE=4—EE

o 15
COERBEVWLIFWELEERICHYNBES IS NET,
LRI D I Y(HEBRKD ABEAATLES BECFETNIERETETT,
LU - BRUSFORBICKDERICOVWTRIEIICSTVEFADOT HEE£ICBLELTIE
FTRCTERBKESVWETLOBEWNRALLEITET,

HIAR - RUATARR. BLUORKFICLDEH - BELCDOVTIE.
—VIDRIAFZCEVWEBADT, ZTHESLEELN,

cREMETHICEEL. REFPICRECHECFXZEZMITIEOENLIFETE,
CREBICHEOTIE, TOBELERR—REERLTEEZ,
cBUMITIER2BULETITO L2 B<HRIVELET,

- B FRARUATOIER. BROBESIELANTSEZ,
CREBEFICOLTHARARERUBEE. FEEPEL. BiIR< ORNEESE - TREF(CTHERR
<EXL,

BmIcBIT 58BN EDYE 1 0422-38-4912 =3857510:00~18:00 (£ B - #tk<)

BRESTT: AZ—TSFF kL%t  T180-0006 RREEEBFHHEI2-2-2 21 X AKEESF
https://starplatinum.co.jp/

10

fmmmm e e e e ]

Note: If the display does not stop at
your desired position, tighten the
screws as shown.

®



2. Slowly release the pressure on the spring arm
and allow it to gradually stretch to its full extension.

[ —1
(1T S M-A (x4)  M-B (x4)
M4x12 M4x16
D (x1) E (x1) F (x1) G (x1) H (x1) @Mﬁm @ﬁﬁiﬁﬁiﬁm
M-C (x4) M-D (x4)
M5x12 M5x16
b @
A (x1) B (x1) 1 (x1) J (x3) K (x1) L (x1) M (x1) M-E (x4) M-F (x4)
M6x16 4mm 6mm D5
1 < & 2 4.
- D & A
B—
= WARNING:
1. Firmly hold the two halves of the spring arm
L together and have another person cut Off the
cable tie from around the spring arm.

Desktop with Existing Through-Hole.
210-60mm

-

5

2 10mm
(2 3/8")

10-40mm




